N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

%] F 1% F %] F
A 5 F 3
S10°F O I <]
105k R g
: 10°F =
E E =)
10 ; i ot
10°F
10°F E
E 102
10
10;r 105—
i N
o
§ e — W80
T T v 29 T
J RO I [, ,»ﬁl.\l HI:ULIMH\ 1. 1r__}_ -
|
o =25- 20 15 10 5 0 5 10 15 20 25 0'—25—20—15—1( -5 0 5 10 15 20 25 0'—?5 20 15 10 5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 L 2
[=} [=} [=}
g S s
[ Q Q
=] X =1
=l k] Si1o*
[=3
3

10? 10?
o — e —— o e e e F 11| T
3 H . 3 : : : : : 3 i :
© | % ﬁ‘ e« P S S & : E "I"
% %H%%H SRERPEPRRITIRVRI PPPRPRES i . , I
0sel : : : : : o ‘H%il 05l : : : : : 001 i ] m"
=30 -20 -10 0 10 20 30 =30 -20 -10 020 30 =30 -20 -10 0 10 20 30 =30 20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


